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Course ID : 11614 Course Code : SH/ECO/103/GE-1·1

Course Title: Introductory Microeconomics

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define cardinal and ordinal utility.

√&Ìı±‰¬fl¬ › ¸—‡…±ı±‰¬fl¬ Î¬◊¬ÛÀ˚±ø·Ó¬±ı˛ ¸—:± ±›/

(b) Define law of demand.

‰¬±ø˝±ı˛ ¸”ÀSı˛ ¸—:± ±›/

(c) What is price elasticity of demand?

‰¬±ø˝±ı˛ ±˜·Ó¬ ø¶öøÓ¬¶ö±¬Ûfl¬Ó¬± fl¬œ∑

(d) State the law of Diminishing Marginal Utility.
Sê˜˝ò±¸˜±Ú √õ∂±øôL√fl¬ Î¬◊¬ÛÀ˚±ø·Ó¬±ı˛ øıøÒøÈ¬ øıı‘Ó¬ fl¬Àı˛±/

(e) What do you mean by substitution effect?

¬Ûøı˛ıÓ«¬ √õ∂ˆ¬±ı ı˘ÀÓ¬ Ó≈¬ø˜ fl¬œ Œı±ÀÁ¬±∑

(f) What do you mean by shifts of demand curves?

‰¬±ø˝± Œı˛‡±ı˛ ’¬Û¸±ı˛Ì ı˘ÀÓ¬ Ó≈¬ø˜ fl¬œ Œı±ÀÁ¬±∑

(g) What is production function?

Î¬◊»¬Û±Ú ’À¬Ûé¬fl¬ fl¬œ∑

(h) What is budget line?

ı±ÀÊÈ¬ Œı˛‡± fl¬œ∑

2. Answer any four of the following questions: 5×4=20

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Why does the demand curve slope downward?

‰¬±ø˝± Œı˛‡± Œfl¬Ú øÚ•ß ≈̃‡œ ˝˚˛∑
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(b) What is the distinction between elastic and inelastic demand.

ø¶öøÓ¬¶ö±¬Ûfl¬ ‰¬±ø˝± › ’ø¶öøÓ¬¶ö±¬Ûfl¬ ‰¬±ø˝±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬œ∑

(c) Briefly explain the law of Variable Proportions.

¬Ûøı˛ıÓ«¬Úœ˚˛ ’Ú≈¬Û±ÀÓ¬ı˛ øıøÒøÈ¬ ¸—Àé¬À¬Û ı…±‡…± fl¬Àı˛±/

(d) How do you derive market demand curve from individual demand curves?

ı…øMê·Ó¬ ‰¬±ø˝± Œı˛‡± Ó≈¬ø˜ fl¬œˆ¬±Àı ı±Ê±ı˛ ‰¬±ø˝± Œı˛‡± Œ¬ÛÀÓ¬ ¬Û±Àı˛±∑

(e) Show the relation among Average Revenue (AR), Marginal Revenue (MR) and Elasticity

of Demand.

√·h¬ ’±˚˛ (AR), √õ∂±øôL√fl¬ ’±˚˛ (MR) ¤ı— ‰¬±ø˝±ı˛ ø¶öøÓ¬¶ö±¬Ûfl¬Ó¬±ı˛ ¸•Ûfl«¬øÈ¬ Œ‡±›/

(f) Explain the features of Perfect Competition.

¬Û”Ì« √õ∂øÓ¬À˚±ø·Ó¬±ı˛ Δıø˙©Ü…&ø˘ ı…±‡…± fl¬Àı˛±/

3. Answer any one of the following questions: 10×1=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) State and explain the properties of indifference curve. What do you mean by indifference

curve? 2+8=10

øÚı˛À¬Ûé¬Àı˛‡±ı˛ Δıø˙©Ü…&ø˘ øıı‘Ó¬ fl¬Àı˛± ¤ı— ı…±‡…± fl¬Àı˛±/ øÚı˛À¬Ûé¬Àı˛‡± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(b) Establish that Longrun Average Cost (LAC) is the envelope of Shortrun Average Cost

Curves (SACs). What is marginal cost? 8+2=10

√√œ‚«fl¬±˘œÚ ·h¬ ı…˚˛ Œı˛‡± Œ˚-¶§äfl¬±˘œÚ ·h¬ ı…˚˛ Œı˛‡±ı˛ ‡±˜ Ó¬± ı…±‡…± fl¬Àı˛±/ √õ∂±øôL√fl¬ ı…˚˛ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±¬∑
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Write two main features of Indian economy in the colonial period.

fi¬ÛøÚÀıø˙fl¬ ¸˜˚˛fl¬±À˘ ˆ¬±ı˛Ó¬œ˚˛ ’Ô«ÚœøÓ¬ı˛ √õ∂Ò±Ú ≈øÈ¬ Δıø˙©Ü… Œ˘À‡±/

(b) When and where was the first jute mill of India set up?

fl¬‡Ú ¤ı— Œfl¬±Ô±˚˛ ˆ¬±ı˛ÀÓ¬ı˛ √õ∂Ô˜ ¬Û±È¬ ø˙Àä±À…±· √õ∂øÓ¬øá¬Ó¬ ˝˚˛∑

(c) Write down two constraints of industrial development in India during British rule.

øıËøÈ¬˙ ˙±¸Úfl¬±À˘ ˆ¬±ı˛Ó¬ıÀ¯∏« ø˙ä Î¬◊iß˚˛ÀÚı˛ Œé¬ÀS Œ˚ Œfl¬±ÀÚ± ≈øÈ¬ ı±Ò±ı˛ fl¬Ô± Î¬◊À{°‡ fl¬Àı˛±/

(d) What are the different forms of colonial exploitation?

fi¬ÛøÚÀıø˙fl¬ Œ˙±¯∏ÀÌı˛ øıøˆ¬iß Òı˛Ì&ø˘ fl¬œ fl¬œ∑

(e) When did Bengal face serious famine during the British rule in India?

øıËøÈ¬˙ ˙±¸Ú±ÒœÚ ˆ¬±ı˛ÀÓ¬ fl¬‡Ú ıºÀÀ˙ ¸±—‚±øÓ¬fl¬ ≈øˆ«¬é¬ Œ‡± ˚±˚˛∑

(f) When and from where Indian Railway did first steam off?

fl¬‡Ú › Œfl¬±Ô± ŒÔÀfl¬ ˆ¬±ı˛Ó¬œ˚˛ Œı˛˘ ˚±S± qè fl¬Àı˛øÂ˘∑

(g) Distinguish between external and internal economic drain.

ı±ø˝…fl¬ › ’±ˆ¬…ôL√ı˛œÌ ’Ô«ÕÚøÓ¬fl¬ øÚ·«˜ÀÚı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

(h) What do you mean by Permanent Settlement?

ø‰¬ı˛¶ö±˚˛œ ıÀj±ıô¶∏ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

2. Answer any four of the following questions: 5×4=20

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain the trends with regard to population growth in India during 1857-1947. 5

ˆ¬±ı˛Ó¬ıÀ¯∏« 1857-1947 ¸˜˚˛fl¬±À˘ ÊÚ¸—‡…± ı‘øX¬ı˛ √õ∂ıÌÓ¬± ¸•ÛÀfl«¬ ’±À˘±‰¬Ú± fl¬Àı˛±/
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(b) What is meant by commercialisation of agriculture? Explain how commercialisation of

agriculture did effect the Indian economy during Brithish rule. 1+4=5

fl‘¬ø¯∏ı˛ ı±øÌÊ…fl¬ı˛Ì ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑ ˆ¬±ı˛ÀÓ¬ı˛ ’Ô«ÚœøÓ¬ı˛ Î¬◊¬Ûı˛ fl‘¬ø¯∏ı˛ ı±øÌÊ…fl¬ı˛ÀÌı˛ √õ∂ˆ¬±ı ’±À˘±‰¬Ú±
fl¬Àı˛±/

(c) Explain the causes of famines as coitnessed by Indian economy in between the years 1857

and 1947. 5

1857 ŒÔÀfl¬ 1947 ¸˜˚˛fl¬±À˘ ˆ¬±ı˛Ó¬œ˚˛ ’Ô«ı…ı¶ö± Œ˚ ≈øˆ«¬é¬&ø˘ı˛ ¸•ú≈‡œÚ ˝À˚˛øÂ˘ Ó¬±ı˛ fl¬±ı˛Ì&ø˘ ı…±‡…±
fl¬Àı˛±/

(d) Explain the controversory as prevalent in India between development of railways and

development of irrigation. 5

ˆ¬±ı˛ÀÓ¬ Œı˛˘¬ÛÔ √õ∂¸±ı˛ › Œ¸À‰¬ı˛ √õ∂¸±ı˛ øı¯∏À˚˛ Œ˚ øıÓ¬fl«¬ øÂ˘ Ó¬± ı…±‡…± fl¬Àı˛±/

(e) What were the major reasons for deindustrialization in 19th century India? 5

Î¬◊Úøı—˙ ˙Ó¬±sœÀÓ¬ ˆ¬±ı˛ÀÓ¬ı˛ ø˙ä±ıÚ˜ÀÚı˛ ˜”˘ fl¬±ı˛Ì&ø˘ fl¬œ fl¬œ∑

(f) Briefly discuss the role of foreign capital in Indian industrial development during the

pre-independence period. 5

√õ∂±flƒ¬ ¶§±ÒœÚÓ¬±fl¬±À˘ ˆ¬±ı˛ÀÓ¬ı˛ ø˙Àä±ißøÓ¬ÀÓ¬ ΔıÀø˙fl¬ ˜”˘ÒÀÚı˛ ˆ”¬ø˜fl¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

3. Answer any one of the following questions: 10×1=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is meant by ‘the economic drain’ in India? Explain the consequences of economic

drain in British India. 2+8=10

ˆ¬±ı˛ÀÓ¬ı˛ ’Ô«ÕÚøÓ¬fl¬ øÚ–¸ı˛Ì ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑ øıËøÈ¬˙ ˆ¬±ı˛ÀÓ¬ı˛ ’Ô«ÕÚøÓ¬fl¬ øÚ–¸ı˛ÀÌı˛ Ù¬˘±Ù¬˘ øıÀù≠¯∏Ì
fl¬Àı˛±/

(b) What is meant by deindustrialisation? Narrate the causes and consequences of

deindustrialisation as experienced by the Indian economy during 1857-1947. 2+4+4=10

Deindustrialisation ï’ıø˙ä±˚˛Úó ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑ ̂ ¬±ı˛Ó¬œ˚˛ ’Ô«ÚœøÓ¬ÀÓ¬ 1857 ŒÔÀfl¬ 1947 ̧ ˜˚˛fl¬±À˘
Œ˚ ’ıø˙ä±˚˛Ú ‚ÀÈ¬øÂ˘ Ó¬±ı˛ fl¬±ı˛Ì ¤ı— √õ∂ˆ¬±ı ’±À˘±‰¬Ú± fl¬Àı˛±/
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